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Section : General English

Select the option that will improve the underlined 6.

part of the sentence. In case no improvement is
needed, select 'No improvement required’'.
Thank you all for coming so earlier at the morning.
(A) early in the (B) earliest on the

(C) No improvement required

(D) the early in a [A]
sIEIT—(A) is correct. Earlier at the morning 31 S8
early in the morning BT I1ET | Morning % T8
Preposition in 3TTdT 2 |

Select the most appropriate meaning of the given
idiom.

Spill the beans

(A) To find out something

(B) To get a new idea

(C) Give away a secret

(D) To drop something [C]
seaT—(C) is correct. Spill the beams &1 Id—ug
e 2 |

Select the most appropriate synonym of the
underlined word in the given sentence.

These figures have been greatly exaggerated.

(A) ignore (B) magnified

(C) belittled (D) understated [B]
=IEIT—(B) is correct. Exaggerated &1 S9—aeT @Te
fe@ T 2 3R magnified 1 7d—a@T-wg1 = fa@mT 2 |
A A synonym gl

Select the option that will improve the underlined
part of the given sentence. In case no improvement is
needed, select ‘No improvement required’.

None only did the men aid in the work, but the
women also did their part.

(A) Only (B) No improvement required
(C) Not only (D) No only [C]
sreaT—(C) is correct. None only = T W Not only 8FT

=1fge | Correlative conjuntion — Not only — but also 21
Select the correctly spelt word.

(A) Hypothesis (B) Milennia

(C) Prihistoric (D) Monothistic [A]
SIEAT—(A) is correct. sad Hypothesis &l spelling
21 Milenia = Millennia/Prehistoric = Prehistoric/
Monotheistic ® |

The following sentence has been divided into parts.
One of them may contain an error.

Select the part that contains the error from the
given options. If you don’t find any error, mark
‘No error’ as your answer.

My teacher said to me that/all that/glitters were
not gold.

(A) all that

(B) My teacher said to me that

(C) No eror
(D) glitters were not gold [D]
=gEt—(D) is correct. Glitters were not gold & T

W glitters is not gold EMT =TT | Proverb (FEEd) 1
Tense W™: Present Simple BT 8 | Present Simple—

are that glitters 2 |
Select the most appropriate synonym of the given
word.

Provoke

(A) Arouse (B) Inhibit

(C) Constrain (D) Slack [A]
SYEAT—(A) is correct. Provoke 3R arouse 3T 31 39—

IFIMT AT TSI T 9HMT 2| F IHT synonym & |
Select the most appropriate option to fill in the blank.
His autobiography will be one of the most
awaited books.

(A) badly (B) slowly
(C) deftly (D) eagerly [D]
=EIT—(D) is correct. Most eagerly awaited T& ST R |

The following sentence has been divided into parts.
One of them may contain an error.

Select the part that contains the error from the
given options. If you don’t find any error, mark
‘No error’ as your answer.

Anosmia is the/completed loss or/absence of the
sense of smell.

(A) completed loss or

(B) Anosmia is the

(C) absence of the sense of smell

(D) No error [A]
EAT—(A) is correct. Completed loss & T W
complete loss THT =T |

10. Select the INCORRECTLY spelt word.
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Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.
It has been my great misfortune to follow a speech
more notable for its volume than for any sense.
(A) No improvement required
(B) to have being following a speech more notable
(C) to follow a speech much notable
(D) following a speech most notable [D]
=grEal—(D) is correct. A speech more notable % TIH

™ a speech most notable THT IR |

Select the option that can be used as a one-word
substitute for the given group of words.

The study of different skin diseases

(A) Dermatology (B) Neurology

(C) Psychology (D) Radiology [A]
SIEAT—(A) is correct. Dermatology 3T 319—=d UM
& I F AFE B

Select the correctly spelt word.

(A) Magestic (B) Stringent

(C) Flexibal (D) Faltoring [B]

=EAT—(B) is correct. @& spelling stringent & | A
spellings TeTd 2 |

Select the most appropriate option to fill in the blank.
I your remaining project if you get groceries
for me from the market.

(A) would have done (B) would do

(C) will do (D) will have done  [C]
sqEaT—(C) is correct. I8 I UH TF I ¢ | THH
Main clause # shall/will + I form 2Tl 8 3R if clause
T Present Indefinite Tense a1 &1 I will do your —

project T ¥ |
Select the most appropriate option to fill in the blank.
I can’t control my these days because I got

selected for a job.

(A) nepotism (B) casualness

(C) pollution (D) excitement [D]
=qrREaT—(D) is correct. &1 TE I155 excitement (3TSHT) B
Select the option that can be used as a one-word
substitute for the given group of words.

One who is hostile and violent

(A) Agreeable (B) Idle

: General English

10.

(C) Legendary (D) Aggressive [D]
=qrea—(D) is correct. Aggressive T 31—hostile and
violent |

Select the most appropriate ANTONYM of the
given word.

Hilarious

(A) Humourless (B) Ridiculous

(C) Pretentious (D) Usual [A]
SAREAT—(A) is correct. Hilarious &1 37—5gd AoER
T g% @ 3T Humourless 1 31—z i 2 | 3 g

antonym 2

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

He had begun to dig/diligent along the/low tideline
and had/captured two clams.

(A) He had begun to dig

(B) diligent along the

(C) captured two clams

(D) low tideline and had [B]
=aEaT—(B) is correct. diligent along the & TIH W
dig diligently BT =Tfe | dig ferarm @ o7 fopam &t forsrean
fora fersroor st 2 | W) TR fasivon diligently 2 |

Parts of the following sentence have been given as
options. One of them may contain an eror. Select
the part that contains the eror from the given
options. If you don’t find any eror, mark "No eror’

as your answer.

A significant number of students volunteers each
year for environmental projects.

(A) volunteers each year for

(B) No eror

(C) environmental projects

(D) A significant number of students [A]
SIRET—(A) is correct. Students % =€ f5FT Volunteer

Rt s|feTe @&t volunteer each year 2 |

Select the most appropriate option to fill in the
blank.

Writing books about how to
seems like a great idea.
(A) make a fortune

(C) make a list

on the internet

(B) make a habit

(D) make a promise [A]
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Select the most appropriate ANTONYM of the
bracketed word in the given sentence.

It is irrelevance, at least to me, whether the grant
was (improvident) or no.

(A) cautious (B) thrifty

(C) tardy (D) hungry [B]
FEaT—(B) is correct. Improvident ST antonym thrifty
21 Improvident &1 S1d—37{¥a T=ffet @ 3R Thrifty =1
a1 firaezeft = forwrrdt 2

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select ‘No improvement required’.
Many families are so poor to bear the cost of
educating all their children.

(A) such poor

(B) to poor

(C) too poor

(D) No improvement required [C]
=qEAT—(C) is correct. Too poor to bear W&l T 2 |

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select ‘No improvement required’.
Banning food and beverages is not desirable nor
feasible in a civilized society.

(A) neither

(B) No improvement required

(C) none

(D) nor [A]
SIREAT—(A) is correct. Neither-nor &1 S & 2|
Not-nor 3T JIRT &l BT 2 |

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

Scientists believe/that many animals have/a unique
languages/of their own.

(A) that many animals have

(B) of their own

(C) a unique languages

(D) Scientists believe [C]
sqReaT—(C) is correct. A unique languages % T W
a unique language EFT IRT| a unique % 1§ THa=
&I T language (Y |

Select the most appropriate ANTONYM of the

underlined word.

The more enlightened employers offer better terms.
(A) Educated (B) Reasonable

(C) Confounded (D) Civilised [C]
ATEAT—(C) is correct. Enlightened T antonym-
confounded 2 |

Enlightened =T 31¢f 9% 3 ST @R 31 ST bl HHSTAT
2 3R Confounded =1 31— <ATTT <Al STETIHATAT I
EEEEC

Select the option that can be used as a one-word
substitute for the given group of words.

A book that contains information on various subjects
(A) Encyclopaedia (B) Dictionary

(C) Manuscript (D) Thesaurus [A]
JEAT—(A) is correct. s NAGED e fofers fawai =
TR | EESEL gl @—Encyclopaedia ? |

Parts of the following sentence have been given as
options. One of them may contain an error. Select
the part that contains the error from the given
options. If you don’t find any error, mark ‘No error’
as your answer.

The reduced air pressure on airline flights can lessen
the amount of oxygen in passengers’ blood for
twenty-five percent.

(A) The reduced air pressure on airline flights

(B) No error

(C) can lessen the amount of oxygen

(D) in passengers’ blood for twenty-five percent [D]
qrEaT—(D) is correct. In Passengers' blood for
twentyfive per cent 3 €I W upto twentyfive per cent
Rl

Select the most appropriate ANTONYM of the given
word.

Perilous—

(A) Unstable (B) Safe
(C) Verbose (D) cruel [B]
=qReaT—(B) is correct. Perilous T 318—dangerous

(TdT) B 3R safe 1 7d—Ffara 21 3 Antonym 2 |
Select the most appropriate option to fill in the
blank.

My teacher asked me to keep .

(A) quite (B) quit
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